P10 - B % =

B HEFFz 223

T\ p O 7= 33 P ; é ;FL ¥ | e 1}, 3 %E J_;IE:*E\'
A ' B 10 B R ®
2 102.16] #iwarg&. 2o ¥ A% e PENZ i E R L &
10 F & REFFTEY Rt L . DT .

. ) ! e g LA R AE Y ) "R R
SV E w e 5 Fabk | 7RSI BT R
4 103.02 BFREY wE AREKE HFREY wEz
5 103.09| ek Y FrFER | HEZ |RFAZE % | 7Rk AV TR 2

KEF L — G |, 5o S BFUGE R
6 |03.16 (% 4145 A% e a4 Yoo 1f 3T HRGTHRAR £
7 103.23 B S E R Btk | MRKE PP Yz EZ IR 77 &
LA AR 2 B 1L L N L
8 103.30 f ;?;j;ﬁ g(m— )] T PENF |RAFARETE TR | KT
9 104.06) HALZmAL BEY T | it | FHEOF | KPETRIAETYFH| KA e
LA AR 2 B 1L L N R A
10 |04.13 f %;jﬂ(ﬁ g(i )] Tl kA | 703 |RAgeie iR | Kk
11 104.20 VAT Sy SR gk B AMRKE | BHTERTAY gk B
12 104.27) HFZTHFE* RP € IR P PR F KL R RE 3 #
REF B EH Y L " £ e e EESEE S
13 |05.04 * i L. LEET .
(% $1 ) FAS Jee L 4 PEFELRE i
14 105.11 R RGER Y Bk | Bk R BRI Bixiix
Moyl ST l;"' s ——}a’ )
15 105.18 VA Sy SR Btk | MEKZE = dja N Z?I‘i ,,\gﬁ Bixix
0 S
LA AR 2 B L L N AU
16 [00.25 )f %;/jﬁ g(ﬁi‘: )I Tl mmk | Moz |Ripgmiess | KraE
e AR H TR E
17 106.01 | (NEED) 323k 9 7311 | Birre | REEKZ BT Y oh P
A REERT R FIRE)
18 106.08] Ry Yoirke | oz RoASmIEE | b
19 [06. 15 | 7k v Y FRFEH 2 HHZ |RFAZE % | FeERkyFAYERS| 2
20 |06. 22 WnIT € 3R A% e Bz 3z STt € R A% e
> R0 2Bk
21 | 06. 29 8 % it ¢ l§§f g RaRHEEITE| R £
6/30 (=) % 28HFKREFN > T/1(7 )R BE 4

1~ %- &

$13:30-14:10:212 2 B ~ o % =

g :14:20-15:00 B3~ - % = &

PR

©15:10-15:50 %% &

TR

3o

2 B S A B ET] 0 2 TR A ~EIN51T KyrlH kg A Edp
@%é(iixéfﬂ A IRA FAFEY b Hpn b T Y )

N AEAGAFF LA F A8 RT fRF PRI BATE R A E Frch BRI I G { B
A5 B iRF BN % oAV EE ingpi WEREFRISF W -



